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U.G. DEGREE EXAMINATION, NOVEMBER 2019 

Economics 

Allied – INDUSTRIAL ECONOMICS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Industry. 

 öuõÈÀPøÍ¨ £ØÔ Áøµ¯ÖUP. 

2. Enlist any two classification of industry. 

 öuõÈØ\õø»PÎß Cµsk ÁøPPøÍ u¸P. 

3. Give any two examples for public sector. 

 ö£õxzxøÓ {ÖÁÚ[PÒ GøÁ÷¯Ý® CµsiøÚ u¸P. 

4. What do you know about MNC? 

 £snõmk {ÖÁÚ[PÒ £ØÔ }Â› AÔÁx ¯õx? 

5. Define industrial sickness. 

 öuõÈÀ •hUP® £ØÔ¯ C»UPn® Áøµ¯Ö. 

6. Mention any two causes for low productivity. 

 EØ£zv SøÓÂØPõÚ Põµn[PÒ CµsiøÚ TÖP. 

7. Define privatization. 

 uÛ¯õº©¯® Gß£uøÚ Áøµ¯ÖUP. 
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8. What is meant by Dis investment? 

 ‰»uÚ Â»UP® GßÓõÀ GßÚ? 

9. Define industrial policy. 

 öuõÈØ öPõÒøP £ØÔ¯ C»UPn® Áøµ¯Ö. 

10. Give the meaning of industrial reforms. 

 öuõÈØ ¦µm]¨ £ØÔ¯ ö£õ¸Ò u¸P. 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Give the linkage between agriculture and industry. 

   GÆÁõÖ ÷ÁÍõsø©²® öuõÈØ\õø»²® 
¤ßÛ°¸UQßÓÚ? 

Or 

 (b) What are the important broad classifications of 

industry? 

   öuõÈØ\õø»°ß £À÷ÁÖ •UQ¯ ÁøPPÒ ¯õøÁ? 

12. (a) Do you favour public private partnership? 

   uÛ¯õº ©ØÖ® Aµ]ß CønÄ ÷uøÁ¯õ Gß£øu 
TÖP. 

Or 

 (b) Mention the evil consequences of MNC. 

   £snõmk öuõÈØ\õø»PÍõÀ HØ£k® wø©PÒ 
¯õøÁ? 

13. (a) Mention some causes for industrial sickness in 

India. 

   öuõÈÀ •hUP® C¢v¯õÂÀ HØ£h Põµn[PÒ 
¯õøÁ? 

Or 
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 (b) Give some important techno – economic factors for 

the promotion of Indian industry. 

   öuõÈØ\õø»PÎß ÁÍºa]US xøn¦›²® 
ö£õ¸Íõuõµ öuõÈÀ~qUP PõµoPÒ ¯õøÁ? 

14. (a) What do you know about globalization and mention 

its important segments? 

   E»P©¯©õuø»¨ £ØÔ TÔ Auß Em¤›ÄPøÍ TÖP. 

Or 

 (b) Why Indian government is favouring privatization? 

   C¢v¯ Aµ_ Hß uÛ¯õº©¯©õuø» FUSÂUQßÓx? 

15. (a) Mention the salient features of 1948 industrial 

policy. 

   C¢v¯ Aµ]ß 1948À ^›¯ A®\[PÒ ¯õøÁ? 

Or 

 (b) How new economic reforms helps industrial 

promotion? 

   ¦v¯ ö£õ¸Íõuõµ öPõÒøP GÆÁõÖ öuõÈØ\õø»US 
EuÄQÓx? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Describe some important consumer goods industry in 

India and how it helps economic development? 

~Pº÷ÁõºPÒ öuõÈÀPÎß •UQ¯zøuU TÔ Ax GÆÁõÖ 
öuõÈØxøÓUS EuÄQÓx Gß£øu TÖP. 
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17. Trace the origin and growth of some major public sector 

industry. 

ö£õxzxøÓ {ÖÁÚ[PÎß ÁÍºa] GÆÁõÖ |øhö£ÖQÓx 
Gß£uøÚ TÖP. 

18. Suggest measures to improve the working capacity of 

Indian industry. 

C¢v¯ öuõÈÀPÒ ö\¯À£k® Âuzøu GÆÁõÖ 
÷©®£kzu»õ®. 

19. How globalization hampers Indian industries? 

 E»P©¯©õuÀ GÆÁõÖ C¢v¯ öuõÈØ\õø»US £õuP® 
Gß£øu £ØÔ TÖP. 

20. What are the broad objectives of the new Industrial 

Policy of Indian government?  

C¢v¯ Aµ\õ[Pzvß ¦v¯ öuõÈÀ•øÓ öPõÒøP°ß £µ¢u 
÷|õUP[PÒ ¯õøÁ? 
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